(2) BOD, COD, £E%. 2B0IBREBEEZFHKR
7 IRBEEFNE
a BODQG

EEscin REERRERE | BL 70 3 E 11 3 E
kit £ EH H & F 15%{E | SF1 B & = 15%fiE
=8I Bk A 10| 1212 = 100 1.1 [11] 11 /12 = 92| 1.2
RN [RIE=EE B [1.3] 12,12 = 100] 1.4 J1.7] 11712 = 92] 2.0
ElItHR |EAB A 1311712 = 9 1.3[1.4] 912 = 75 2.0
FISAOMESS B [1.9] 12,12 = 100] 2.6 J1.7] 11712 = 92| 1.8
B TrQ =k B [1.8] 1112 = 022 1.9 11712 = 92 2.0
Bl LR () [HETiE A o7 12712 = 100 0.9 J0.9] 12712 = 100 1.2
BIIERQ) |[=&ARE A 10712712 = 100 0.7 J0.8] 11711 = 100 1.1
BITHR  [=IE B [1.0] 12,12 = 100] 1.2 J0.9] 12,712 = 100] 1.0
ESINIONNES 1 A l16] 912 = 75/ 1.9026] 6,12 = 50 2.3
R AR A |12 11712 = 9 1.4[1.4] 12,712 = 100 1.8
A2NE) [EAE A 1312712 = 100 1.6 [1.3] 11 /12 = 92| 1.6
S IEES A 11312712 = 100 1.8 [1.3[ 11 /12 = 99] 1.4
BEIER =5k AAlO08[ 9,12 = 7509 f05[ 12712 = 100/ <0.5
MES: A 1112712 = 100 1.4 1.3 1012 = 83 1.4
CIA B A 106] 12712 = 100 0.7 J0.7] 12712 = 100 0.8
mBNTH |[SEEE A Jo6[ 12,712 = 100 0.6 0.7] 12712 = 100 0.7
RER A 107112712 = 100 0.7 J0.6] 12,712 = 100 0.7
BEIE A J06[ 12712 = 100 0.6 J0.7] 12712 = 100] 0.8
B AREE A 1091212 = 100 1.1 [1.4] 11 /12 = 92| 1.7
B/ A |15 912 = 75 1.701.7] 10 /12 = 83 1.9
BRI EAGRE B 25 9,12 = 75 30 1.9 10712 = 83| 2.2
MBI L |m#w - smxemes | C | 1.7] 12712 = 100] 1.9 [1.56] 12 712 = 100] 1.8
INENTF R [NEE c 1331012 = 8 37|1.9] 12712 = 100] 2.4
Kl =i E [66] 1012 = 83 82 |60] 11,712 = 92 8.8
EHIER =%k AAI<05[ 12712 = 100{<0.5J<0.5] 117 11 = 100| <0.5
=B Th A8k A o8] 12712 = 100 1.0 [0.8] 12712 = 100] 0.8
Al BakE AAI<05[ 12 712 = 100{<0.5J<0.5] 12712 = 100| <0.5
BB =5 A l1.a{10712 = 83 1.3[1.1] 1212 = 100 1.2
2 il @B A 1012712 = 100 1.3 J06] 12712 = 100 0.6
 EET HERE A |15 812 = 61 2101.3] 1112 = 9] 1.6
Za&I| ibiE B |13 1212 = 100 1.3 1.7 1 12 = 92/ 1.9
EE ] BRYE B |25 9,12 = 75 2925 10712 = 83| 2.6
B P iBiE B [1.8] 10, 11 = 012213 9.9 = 100 1.7
EE] ZLE A 111212 = 100/ 15013 912 = T5[17
HIE )| HNRAR A 109112712 = 100 1.2 J0.6] 12712 = 100/ <0.5
BB EHE A |12 11712 = 9 1.2[1.2] 12,712 = 100 1.4
I RERIE A f10][ 1212 = 100 1.3 f1.2] 1112 = 92] 1.6
J\E I G A |14 12712 = 100 1.6 [2.1] 8./ 12 = 61 2.3
I NEE A l15] 1012 = 8 1.4f1.4] 910 = 90 1.7
E10 +EiE A Jo6[ 12712 = 100 0.7 J0.7] 12712 = 100 0.7
el X2 A 141012 = 83 1.9J1.9] 6,11 = 55 2.8
Il =B A 1211712 = 9 1.7020] 711 = 64 3.1
BEZI LR A 091012 = 83 1.0f1.7] 912 = 75 1.8
S| B—a) A Jog[ 12712 = 100 0.8 [1.1] 1112 = 92 1.2
K| =0 A 11311712 = 9 1.7[1.4] 1012 = 83 1.6
EE ElE A |18 7712 = 58 2201.9] 8,12 = 61 2.7
=1 EINE A 16 912 = 75 1.0f1.3] 10,12 = 83 1.3
GEAI =k A 19 712 = 5823 |13] 10,12 = 83 1.4

GB) 1 F ¥ ANZOWTIEHRBIESED EMFHETT
BEICOWTIK., 2BROBBENEDEMTEHETT,
LBEERLEFGEEL-EOEREREDT—42
2 #E & % x 1 00
FERZELCT-BRETFHENRT—28
3 T5%KEE : FRIOBETHENET—FZZDEDNENEDNLIBIZHEART, 0.75x nE
B (nlZEETEHEDT—48) OT—4%1E (0.75x n AEHTHWGETIHE
U EIF-BHEBDT—421E) TI,




b COD (i)

FEEscEn BEEEEMmAZ 7 10 3 i3 11 3 E
ki B I F5 B & % T5%El F5 B & % T5%1E
EEE0) 2l EihsE A 1.2 5,/ 6 = 83| 1.5 1.7 4,6 = 67| 2.2
Rilgih ok A 1.1 6.6 = 1.7 1.8 5,/ 6 = 83 2.0
EEEQ2) X a8tk A 1.2 5,/ 6 = 1.8 1.6 6.6 = 1.9
BHAGhE A 1.1 6.6 = 1.6 1.7 4,6 = 2.1
E E Z LRk A 1.5 5,/ 6 = 1.6 1.6 3/ 5 = 2.1
Bigithk A 1.6 5,/ 6 = 1.7 1.5 6.6 = 1.7
FHIGEAR B 2.8 912 = 3.0 2.6 11712 = 2.8
Bl 2 & |hREf B 2.8 1/ 12 = 3.1 2.2 1M1 /712 = 2.4
&Rk B 2.7 912 = 2.7 2.2 1M1 /712 = 2.7
FEHEES A 1.5 3/ 4 = 1.5 1.5 4/ 4 = 1.8
= B B [(ERGH A 1.3 4/ 4 = 1.4 1.4 3/ 4 = 1.4
BiGh A 1.3 4/ 4 = 1.4 1.0 4/ 4 = 1.1
WsmE WEsaNbG A 0.9 4/ 4 = 1.1 1.4 4/ 4 = 1.4
AERZEH A 1.1 4/ 4 = 1.3 1.3 4/ 4 = 1.4
AERL ABOER A 1.8 10712 = 1.9 1.6 10712 = 1.8
ZEER Al20 ] 712 = 241 20 | 612 = 2.2
c LEF (GEE)
TAE 05 C [0 | T 00 2 T I 7 3 3
ki 4 il I35 RS E35) RS
FAIN- ¥ E 044 0/ 6 = 0.36] 2.6 =
BEZ(7) |WiSHhE 0.31 2/ 6 = 0.50 1/ 6 =
E 0.38] 2712 = 0.43] 3712 =
FoXagihk 0.29] 3./ 6 = 0.37] 2/ 6 =
ERZE(«1) |[BRABME 0.27] 376 = 0.35| 3./ 6 =
E 0.28)| 6712 = 0.36] 5712 =
LR 0.35| 376 = 0.53]| 2.5 =
E & Z |Bigihix 0.73 1/ 6 = 0.53]| 2./ 6 =
E 0.54| 4712 = 0.53| 4. 11 =
FHIGEAR 0.57 1/ 6 = 0.60f 0. 6 =
] 2 & |hRE 0.47] 06 = 0.40 1/ 6 =
&Rk 0.45 1/ 6 = 0.34| 1./ 6 =
E 0.50, 218 = 0.45|] 218 =
ABOE 0.34| 3./ 6 = 0. 31 3/ 6 =
AERE  [HEE 0.63 1.6 = 0.56] 1.6 =
£33 049 412 = 044 412 =
d £t (Gas)
IT'%EM TR | TR B 7 HE 7 3 11 3
ki il I35 RS E35) RS
FAIN- ¥ F 0.029] 4 6 = 0.023| 5. 6 =
BEZ(7) |WiSHhE 0.025| 5/ 6 = 0.024| 5 6 =
E 0.027] 9. 12 = 0.024| 10 ~ 12 =
FoXagihk 0.016] 6 .~ 6 = 0.018] 6 .~ 6 =
gERZEZ(«1) |(BRABMmE 0.022] 6 6 = 0.018] 6 .~ 6 =
E 0.019] 12 ~ 12 = 0.018] 12 ~ 12 =
LR 0.014] 6 .~ 6 = 0.016] 5 .7 b =
E & Z |Bigihik 0.016] 6 6 = 0.018] 6 .~ 6 =
E 0.015| 12 ~ 12 = 0.017] 11 ~ 11 =
FHIGRAR 0. 041 3/ 6 = 0.048 1/ 6 =
Bl 2 & |hRE 0.034] 3/ 6 = 0.034] 3. 6 =
&R Hh 0.029] 3. 6 = 0.027] 4 6 =
E 0.035] 9. 18 = 0.036] 8.7 18 =
AEOE 0.022| 5. 6 = 0.022| 5. 6 =
AERL ZHRER 0.027] 4 / 6 = 0.022] 6 6 =
Ei 0025 90~ 12 = 0022 11~ 12 =




A REEEOFEHZERRIL

a )il (BOD) (ifiz m g /L)
FRHTidd| RELEHAL |BE| smmess # i R ( F B )
Kig% A (RELFE) 60 61 62 63 J. 2 3 4 5 6 7 8 9 10 11
FIRI()  |BTR AN a5 .7 1.9 | 1.8 |20 1.6 |17 |13 |1.4| 13| L4 |11 |11 |L2]|1Ll]|L2
FIRIQ)  |R)IHER B |45 2.5 |28 |25 |25 |21 |23 |21|L9 20|17 |21]|21]|L7|14]20
)13 EAR M |Has 0.6 | .0 | 1.3 | 0.9 | 1.2 |12 | 1.0 |20 13|13 |15 |1L2]09 | 13|20
EE)I T (1) |PERAR B{ |W4as5 45 | 4.2 | 40 | 3.9 | 3.4 | 3.1 (23 |22 |18 |34]| 18|16 |18 |26 |18
KEJI T (2) |ERiIHE Bn |l45@RT7) 5.8 | 7.7 | 9.7 | 4.7 | 6.9 | 44 |39 |31 |32 |42 |28|22]26]|22]20
B5) 11 B3 (1) |HHETHE Av |45 .4 |11 |15 |10 | L2| 10|13 |09 |1L2|L2|10|1l2|L1l]|09 L2
W1 B3 (2) |E&KE AL |mas s, 1) .6 | 1.5 | 1.4 | 1.2 | .2 | 11|12 |08 | 15| L1 | 11|11|09]|07]|L1
13) 1) T3t )@ Br |Wa5@ET) 81|78 | 10 |81 |67 |34 |41 |46 |33 |35 |29 |1.3|1.8]|1.2]10
AREE)I(2) |HEER Av |47 2.2 [ 35|29 |25 |24 |25 |20]|21 |26 |34]|28|29]|22]|1.9|23
WIKAE M |maz .7 | 1.7 ] 20|18 |20 |21 |16 |11 |1.2]| 1.4 |22 19|15 14| L8
AE)I(3) | EAE M |maz 21 (1.8 |23 |17 |21 |18 |13 | 1.2 14|16 21|19 | L3 ]| 16|16
R IH=m M |maz 2.1 [ 20|21 |24 |16 |20 |13 | 1.4 |16 |18 |28|22| 1.4 18|14
mR)IEE | REHE AAf |H4 9 <0.5| 0.6 | 0.5 [ <0.5| 0.6 |<0.5|<0.5| 0.8 [ 0.5 | 0.7 | 0.6 | 0.5 | 0.5 | 0.9 | <0.5
e A |mas 0.7 | 1.6 | 1.2 | 0.8 | 0.9 | 0.7 [ 0.9 | 0.8 | 0.9 | 1.0 |09 | 16| L2 | 1.4 | 1.4
PUN:E A |mas 0.8 | .0 | 0.7 | 0.7 | 0.9 | 0.8 | 0.6 | 0.7 | 0.9 | 1.3 | 1.0 | 0.8 | 0.8 | 0.7 | 0.8
BR)ITH |[FEEG M |Ba9 0.9 | .1 |07 |08]09]09]07]08]|1.0]|1.0|07]|07]|08]06]07
bE3id A |mas .0 | 1.0 | 09 |08 | 1.0 | 10|07 |1.1]04]|1L1]|09]|08]|07]07]07
iR )IHE AM |Ea9 0.8 109 |07 ]07]09|1.0]|07]08]|1.0]|11L.l]|07]|07]06]06]|0.8
Lag=:pl| ik An |51 1.7 | 1.2 |14 |09 |20 | 1.6 |17 |1.8 | 1.1 |10 | 12|17 | 1.3 | 1.1 | L7
BAR An |E51 2.8 | 1.4 | 1.9 | 1.4 |18 |20 |20]20]|20|26|22|21|L.4]|17]|19
ezl TR G Br |W51 21|20 |15 |17 |17 |24]06 2230|2140 |25 |26 30|22
/NGRS s 2RRHRAL | Cr (W2 49 | 7.1 | 7.2 | 5.6 | 47 | 42 | 3.5 | 5.4 | 41 [ 53 | 41|24 |22 |19 |18
MBI |/NARE Cn |W52@®T) 20 13 14 | 7.7 |86 | 7.8 |48 |56 |38 50|42 |49 |41 37|24
KA g En |52 13 15 13 10 [(0.9| — |@D|6| — = — | 94|88 |82]88
) LW | =R AAf |H52 0.5 | 0.6 | 0.6 | 0.5 | 0.5 | 0.6 [<0.5|<0.5|<0.5|<0.5 |<0.5|<0.5|<0.5|<0.5 | <0.5
BEIITH AR M |B52@RT7) 21 21|23 |14 |17 |14 |1.3]|1L.0]|1.4|12.1]|09 | 11|08 10|08
W) wEWR AAf W52 €0.5 | €0.5 | 0.5 | <0.5 | <0.5|<0.5 |<0.5 | <0.5 [<0.5 |<0.5 |<0.5|<0.5|<0.5|<0.5|<0.5
BRI B An |®7 - - - - - - - - - - - | 1.9 | L5 | 13| L2
I FHE M |®7 0.9) | (1.2) |(1.2) | (0.6) | — - - - - - — |09 | 10| 13|06
B Gid=iki A |®7 (2.6) |(4.5) [ (2.0) | (1.6) | 2.7) | (2.3) | (1.9) | (2.6) | (2.1) | (4.3) [(2.8) | 2.7 | 2.0 | 2.1 | 1.6
KA RIAGE Bn |®7 1.9) |31 |6G.7)|B.1)[7.0) [3.4) |28 |38 |20 |26)|@7]| 24| 1.4 | 13|19
A1) HHESTIR Bn |#7 @5) | (19) | (13) | (15) | (13) |(9.8) | (11) |(6.3) | (6.8) | (9.1) |(6.0) | 4.8 | 3.5 | 2.9 | 2.6
KA1 P AR Bn |®7 (21) | (18) | (20) | (16) | (A1) [(7.1) | (4.5) |(3.7) [(6.5) | (6.1) |(4.8) | 4.6 | 8.3 | 2.2 | 1.7
sl 30k M |®7 (1.0) | (0.8) | (0.9) | (0.5) [(0.8) [(1.4) |(1.7) | (1.8) | (2.8) |(1.2) |(2.0) | 2.0 | 2.2 | 1.5 | 1.7
WEF)II R KHE M |®7 - - - - - - - - - - — |05 |07 ]| 1.2 |<0.5
=R L M |®7 0.9 | (L5 @D | |[@.7[Q.5) |12 |13 1.3 |18 |2 1.2 |20 | 12|14
BRI Eng M w7 - - - - [(0.8) | (0.5) | (0.6) | (0.9) | (0.8) [(1.3) |(1.1)| 2.0 | 1.5 | 1.3 | 1.6
J\H)I NENE M |®7 (2.2) [ (2.3) | 2.3) | (1.5) |(1.5) [(1.2) [ (1.3) | (0.9) | (1.4) | (2.9) |(2.0) | 2.7 | 1.6 | 1.6 | 2.3
B /b B M w7 - - - - (3209|1513 |09 |@3)]|C@2)] 22| 1.6 | 14| L7
THB)I i} M |®7 0.8) [ (1.0) [ (0.8) | (0.7) | (1.0) | (0.8) | (0.7) | (0.9) | (0.8) | (1.1) [(1.0) | 1.0 | 0.8 | 0.7 | 0.7
Bl K M |®7 (1.0) [(1.3) [(1.2) |1.9) | @7 |20 |17 |18 |14 |12 (16|23 | 15|19 |28
)1 218 M |®7 - - - - - - - - - - — | 1.3 | 1.3 | 1.7 | 81
gl LR M |®7 2.5) | 2.7 |(3.9) | (0.9 |2.0) [(1.2) |(1.6) | (1.5) | Q.1) |1.5) |21 ]| 0.9 | 1.4 | 1.0 | 1.8
el HE—W50) % M |®7 - - - - - - - - - - - | 1.2]07]08 | L2
KF)I RO An |®7 (1.6) | (2.2) | (2.5) | (1.6) | (2.6) | (2.4) [(2.2) | (2. 1) |(2.2) [(2.0) |(@.9) | 2.0 | 1.7 | 1.7 | 1.6
&) I M |®7 (2.3) [(3.3) [(2.2) | (0.9) | (1.2) | (2.6) |(1.7) | (1.6) | (2.0) | (2.2) [(2.3) | 1.7 | 2.6 | 2.2 | 2.7
FJI F)I14% M w7 - - - - - - - - - - - | 1.1 ]| 1.4 ] 1.9 |13
) [tk A |#7 (1.8) [(2.1) | (1.7) | (0.8) | (0.6) | (1.4) | (1.5) | (2.5) | (2.1) |(1.0) |(2.5) | 1.3 | 1.5 | 2.3 | 1.4

() 1 BOD®DKE (15%E) TI,
2 BHENTI. REEEZERL TV R2VLOTY,
3 AKREORELMEOTMIL. AKRNOREEEMABLETERLEZHE. ERELTVET,
4 ( YNIBEE




b ¥ (COD) (i mg/1)
RS TITY |REREmEL |[TRE|RE <3 53 ®r I ( & 3 )
Kig4 BRI EE| 60 61 62 63 T 2 3 4 5 6 7 8 9 10 11
ERE (1) LMY [ABE49| 2.5 | 2.2 | 2.4 | 2.1 | 2.7 | 2.7 | 2.5 | 25 | 2.6 | 2.0 | 2.0 | 2.4 | 2.3 | 1.5 | 2.2
i b AnBE49] 1.9 | 2.0 [ 30 | 2.1 [ 28 [ 29 | 30 | 23 | 27 | 24 | 20 [ 1.9 | 23 [ 1.7 | 2.0
RS (2) ¥ Xa BME(AA(BE49) 1.4 | 1.7 | 2.3 | 1.0 | 1.8 [ 2.0 | 2.0 | 2.1 | 1.7 | 1.5 | 21 | 1.6 | 2.0 | 1.8 | 1.9
B ES S |A|BE49] 2.3 | 1.4 | 2.6 | 1.7 | 2.1 | 2.1 | 2.1 | 2.6 | 2.1 1.9 | 1.7 [ 1.9 | 20 | 1.6 | 2.1
R TLR#SE Avpgsl) 1.2 | 1.6 | 1.4 | 1.4 | 1.8 | 1.3 | 1.1 | 1.4 | 1.6 | 1.2 | 1.2 | 1.3 | 1.4 | 1.6 | 2.1
B e Ac|mgs1] 2.0 [ 26 | 20 | 1.9 | 1.7 [ 1.3 | 1.5 | 1.8 | 1.9 | 1.6 | 1.3 | 1.6 | 1.6 | 1.7 | 1.7
R Bk 3fE B A AR | B ~|BE51] 3.6 | 3.2 | 3.6 | 3.4 | 3.1 | 3.3 [ 31 | 32 | 2.5 | 29 | 25 | 2.5 | 2.6 | 3.0 | 2.8
PRI B-|Bg51) 3.1 | 3.0 | 3.4 | 3.4 | 3.0 | 25 | 27 | 27 | 25 | 25 | 21 | 2.5 | 2.4 | 3.1 | 2.4
LS Bo[AE51] 3.1 | 2.9 | 29 [ 3.1 [ 31 |30 | 28126 |21 | 23] 21]22]23]217]27
Esg 3 RHEE A|BE51) 1.4 | 1.3 | 1.3 [ 1.5 [ 1.2 | 0.8 | 1.0 | 1.3 | 1.2 | 1.4 | 1.0 | 1.0 | 1.5 | 1.5 | 1.8
¥ RS Af|BE51) 1.1 | 1.2 | 1.2 | 1.4 [ 1.2 | 1.0 | 0.9 | 1.1 | 1.0 | 1.2 | 0.7 | 1.1 | 1.4 | 1.4 | 1.4
R AA|#g51] 1.1 | 1.1 | 0.9 | 0.9 | 0.8 [ 0.8 | 0.7 | 1.0 | 1.2 | 1.5 | 0.8 | 0.8 | 1.0 | 1.4 | 1.1
=230 PrE)I v AA|Pg51] 1.5 | 0.8 | 1.3 | 1.0 | 0.7 [ 0.9 | 0.6 | 1.0 | 0.9 | 1.4 | 0.8 | 0.9 | 1.0 | 1.1 | 1.4
AEIREW |A/|ME51] 1.2 | 1.1 1.4 | 1.1 | 0.6 | 1.2 | 0.7 | 1.0 | 1.0 | 1.1 1.0 | 1.0 | 0.9 | 1.3 | 1.4
A SEIRE feis:i Av|#g51| 2.4 | 1.7 | 2.4 | 2.7 | 2.3 | 1.8 | 23 | 3.0 | 2.2 | 1.9 | 3.1 | 2.2 | 2.7 | 1.9 | 1.8
R Ac|igs1] 3.0 | 23 [ 2.9 [ 31 [ 23 [ 20 | 29 [ 3.3 | 2.6 | 2.5 | 40 | 2.2 | 3.1 | 2.4 | 2.2
(%) 1 CODDKE (T5%1H) TI,
2 BT IX. BREABEERL W RVHDTY,
3 AKREOREELEOFHMIL, AKRNOREEEINELTERLEHE, BRELTVET,
(2ER) (8 mg/1)
RS TITe |BEREmAL | TRE|RE <3 53 ®r B ( & 3 )
Kig4 BRI EE| 60 61 62 63 T 2 3 4 5 6 7 8 9 10 11
ERE (T) /NS0 0.71 | 1.4 | 0.95 | 0.44 | 0.56 | 0.48 | 0.38 | 0.30 | 0.27 | 0.44 | 0.39 | 0.55 | 0.40 | 0.44 | 0.36
155 b S O [¥7]| 042 | 093|067 | 0.46 | 0.56 | 0.48 | 0.34 | 0.21 | 0.46 | 0.50 | 0.76 | 0.53 | 0.36 | 0.31 | 0.50
SEB 0.57 | 1.2 [ 0.81 | 0.45 | 0.56 | 0.48 | 0.36 | 0.26 | 0.37 | 0.47 | 0.58 | 0.54 | 0.38 | 0.38 | 0.43
ERE (1) ¥U¥a AL 0.46 | 0.48 | 0.62 | 0.32 | 0.37 | 0.28 | 0.29 | 0.22 | 0.30 | 0.42 | 0.46 | 0.39 | 0.30 | 0.29 | 0.37
FEbZESME | 0 | 7] 0.37 | 0.93 | 0.74 | 0.35 | 0.41 | 0.31 | 0.29 | 0.18 | 0.24 | 0.39 | 0.37 | 0.49 | 0.28 | 0.27 | 0.35
EB 0.42 | 0.71 | 0.68 | 0.34 | 0.39 | 0.30 | 0.29 | 0.20 [ 0.27 | 0.41 [ 0.42 | 0.44 | 0.29 | 0.28 | 0.36
R LBl 5 0.48 ] 0.55 | 0.69 | 0.16 | 0.23 [ 0.19 [ 0.18 [ 0.22 [ 0.19 [ 0.23 | 0.25 | 0.26 [ 0.21 | 0.35 | 0.53
B e O [¥7|0.44 | 0.43 ] 0.79 | 0.21 | 0.32 | 0.23 | 0.28 | 0.22 | 0.34 | 0.33 | 0.37 | 0.25 | 0.29 | 0.73 | 0.53
EB 0.46 | 0.49 | 0.74 | 0.19 | 0.28 [ 0.21 | 0.23 [ 0.22 | 0.27 | 0.28 [ 0.31 | 0.26 | 0.25 | 0.54 | 0.53
G 3 FH)I[FHEAR 0.97 | 0.98 | 0.77 [ 0.54 | 0.63 | 0.76 [ 0.43 | 0.44 | 0.49 | 0.48 | 0.56 | 0.38 [ 0.45 | 0.57 | 0.60
G O [¥7| 075 | 0.68 | 0.73 | 0.41 | 0.51 | 0.47 | 0.38 | 0.34 | 0.36 | 0.35 | 0.39 | 0.34 | 0.37 | 0.47 | 0.40
L S 0.67 | 0.69 | 0.57 | 0.41 | 0.52 | 0.39 | 0.37 | 0.32 | 0.34 | 0.81 | 0.43 | 0.33 | 0.29 | 0.45 | 0.34
EB 0.80 | 0.78 | 0.69 | 0.45 | 0.55 | 0.54 | 0.39 | 0.37 | 0.40 | 0.55 | 0.46 | 0.35 | 0.37 | 0.50 | 0.45
AR BE 0.60 | 1.2 | 0.37 [0.37 [ 0.30 [ 0.28 [ 0.32 [ 0.45 | 0.34 [ 0.28 [ 0.37 | 0.37 [ 0.32 | 0.34 | 0.31
BRI O [¥7]| 0.8 | 0.83 | 0.55 | 0.44 | 0.28 | 0.33 | 0.36 | 0.32 | 0.38 | 0.45 | 0.45 | 0.40 | 0.40 | 0.63 | 0.56
E B 0.70 | 1.0 [ 0.46 | 0.41 | 0.29 [ 0.31 | 0.34 [ 0.39 [ 0.36 | 0.37 [ 0.41 | 0.39 | 0.36 | 0.49 | 0.44
(28
RS Tite |BEREmAL | TRE|RE <3 53 ®r I ( & 3 )
Kig4 BRI EE| 60 61 62 63 T 2 3 4 5 6 7 8 9 10 11
ERE (T) /NS0 0.041 [ 0.038]0.039]0.018]0.028]0.035 [ 0.011 [ 0.016 | 0.016 | 0.020 | 0.025 | 0.022 | 0.029 | 0.034 | 0.023
s b O [FF7]0.032|0.028]0.041|0.015 | 0.020 | 0.025 | 0.011 | 0.015 | 0.017 | 0.019 | 0.013 | 0.018 | 0. 025 | 0. 020 | 0. 024
B 0.037 [ 0.033 [0.040 | 0.017 [ 0.024 [0.030 | 0.011 [ 0.016 [ 0.017 | 0.020 [ 0.019 [ 0.020 | 0.027 | 0. 027 | 0. 024
SRERTE (1) X3 Ak 0.028 [ 0.022 [ 0.028]0.012]0.059 [ 0.019 | 0.019 [ 0.016 | 0.018 | 0.011 [ 0.013 [ 0.013 | 0.016 | 0.019 | 0. 018
S | O | 7(0.030 ] 0.035]0.033]0.015 | 0.022 | 0.018 | 0.011 | 0.011|0.025 | 0.019 | 0.014 | 0.014 | 0.022 | 0.019 | 0.018
SE B 0.029 [ 0.029 [0.031 | 0.014 [ 0.041 [0.018 | 0.015 [ 0.014 [ 0.022 | 0.015 [ 0.014 [ 0.014 | 0.019 | 0.019 [ 0.018
ETERYE LR b 0.030 [ 0.023 [ 0.024 | 0.021[0.017 [ 0.014 | 0.008 | 0.022 | 0.013 | 0.011 [ 0.005 | 0.021 | 0.014 [ 0.013 | 0. 016
B e O [F£7]0.027 | 0.110]0.050 | 0.016 | 0.020 | 0.014 | 0.009 | 0.010 | 0.019 | 0.010 | 0.005 | 0.010 | 0.016 | 0.019 | 0.018
B 0.014 [ 0.067 [ 0.037 | 0.019 | 0.019 [ 0.014 | 0.009 [ 0.016 [ 0.016 | 0.011 [ 0.005 [ 0.016 | 0.015 | 0. 016 | 0.017
Bk FH)I[FALR 0.066 | 0.064 | 0.10 | 0.027 [ 0.060 | 0.15 | 0.022 | 0.045 | 0.040 | 0.034 | 0.032 | 0.030 | 0.041 | 0. 046 | 0. 048
LPS O [FE7|0.054 | 0.062 | 0.059 | 0.034 | 0.040 | 0.070 | 0.019 | 0.049 | 0.034 | 0.028 | 0.023 | 0.022 | 0.034 | 0.033 | 0.034
b A0 0.063 | 0.047 | 0.058 | 0.024 | 0.036 | 0.070 | 0.019 | 0.025 | 0.033 | 0.035 | 0.028 | 0.021 | 0.029 | 0.030 | 0. 027
SE B 0.061 | 0.058 [ 0.072 | 0.028 | 0.045 [ 0.097 | 0.020 [ 0.040 [ 0.036 | 0.032 [ 0.028 | 0.024 [ 0.035 | 0.036 | 0.036
A EIRTE BOW 0.037 [ 0.029 | 0.027 [ 0.022 ] 0.018 [ 0.016 | 0.028 | 0.028 | 0.030 | 0.012 | 0.018 [ 0.017 | 0.022 | 0. 020 | 0. 022
BRI O |[F£7]0.037 | 0.035]0.030 | 0.015 | 0.022 | 0.027 | 0.014 | 0.024 | 0.041 | 0.017 | 0.022 | 0.026 | 0.027 | 0.034 | 0.022
E_B 0.037 [ 0.032 [0.029 | 0.019 | 0.020 [ 0.022 | 0.021 | 0.026 [ 0.036 | 0. 015 | 0.020 [ 0.022 | 0. 025 | 0. 027 [ 0.022
GF) 1 FHRITBIT ZRBREOEMFHETT,
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